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Aufgabe 1

Berechne den Grundwert.

a) 85 % von =6953 b) 60 % von =5550 c) 100 % von =9971
d) 20 % von =549 e) 75 % von =1698 f) 8 % von =478

g) 64 % von =5888 h) 80 % von =5116 i) 78 % von =3705
j) 50 % von =1416

Aufgabe 2

Berechne den Grundwert.

a) 20 % von =19 b) 87 % von =87 c) 20 % von =14
d) 88 % von =88 e) 50 % von =16 f) 100 % von =57
g) 50 % von =46 h) 50 % von =7 i) 90 % von =63
j) 45 % von =18

Aufgabe 3

Berechne den Grundwert.

a) 100 % von =27 b) 75 % von =135 c) 60 % von =30
d) 70 % von =119 e) 50 % von =92 f) 50 % von =67
g) 80 % von =120 h) 100 % von =88 i) 75 % von =63
j) 60 % von =96

Aufgabe 4

Berechne den Grundwert.

a) 50 % von =303 b) 70 % von =567 c) 80 % von =252
d) 50 % von =101 e) 50 % von =54 f) 100 % von =465
g) 10 % von =79 h) 60 % von =591 i) 80 % von =468
j) 50 % von =437

Viel Erfolg!
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